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MATH 012  
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Past Exam Questions

Sections 4.4 & 4.5
1. Simplify the expression 
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Answer: 
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2. Find the value of each of the following:
(a) 
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(b) 
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Answers: 
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3. Write the following expression as a single logarithm with a coefficient of 1 and with base 2, where 
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Answer: 
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4. If 
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, then 
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Answer: 
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5. 
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Answer: 
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6. If 
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, then find the value of  
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Answer: 
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7. Find the value of  
[image: image18.wmf]2

log3

43

2

81

log16log

272

æö

++=

ç÷

èø


Answer: 
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8. If  
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Answer: 
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9. If  
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then use natural logarithm to find the exact value of 
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Answer: 
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10. Use natural logarithm to find the exact solution of the equation 
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Answer: 
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11. Find the solution set of the logarithmic equation 
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Answer: 
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12. The expression 
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Answer: 
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13. The sum of the solutions of the equation 
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Answer: 
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14. If 
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Answer: 
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15. Find the solution set of each of the following equations:
(a) 
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(b) 
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Answers: 
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